njbg (o /T
vl
GROUP 1P - P3000 SERIES
PERFORMANCE DATA
Pressures quoted are relief valve maximum by-pass
Performance with SAE 20W oil at 50° C
PUMP | DISPLACEMENT NOMINAL DELIVERY MAXIMUM SPEED AT
TYPE @1500 RPM & CONTINUOUS MAXIMUM
PRESSURE P PRESSURE P CONTINEOUS
PRESSURE P
cc/rev Max(lpm) Min(lpm) psi bar Max Min
3017 6.1 9.2 7.8 3000 207 | 3500 700
3020 7 10.5 8.9 3000 207 | 3500 700
3023 7.9 11.9 10.1 3000 207 | 3500 700
3027 9.2 13.8 11.8 3000 207 | 3500 700
3028 9.4 14.2 12.2 3000 207 | 3500 700
3032 10.6 16 14.1 3000 207 | 3500 700
3036 11.9 17.85 15.7 3000 207 | 3500 700
3040 13.1 19.7 17.3 3000 207 | 3500 700
3044 14.3 21.5 18.9 3000 207 | 3500 700
3052 16.8 25.2 22.9 3000 207 | 3500 700
3055 17.6 26.5 23.8 3000 207 | 3500 700
3060 19.2 28.8 26.5 3000 207 | 3500 700
3072 22.8 34.3 31.5 2525 174 | 3000 700
3090 28.1 42.2 38.8 2000 138 | 2400 700

TYPICAL PERFORMANCE

TYPICAL PUMP DELIVERY

Flow at Max. Pressure.

FLOW litres/min

F3050

F072

060

A

]

=

500 \\\

[=1
=

:::::,a"’
‘_'_'_,_o—-""-
g

=
=1
=1
=

SPEED rev/

=3

g

min

3000

B0

3052

3044

3036

3028

3020
3017

TYPICAL INPUT HORSEPOWER

Fluid SAE 20W
Fluid Temperature 50°C

75 I
70 \
65 N
60 | N\ | 30
oo |\ N
] =]
50 M, 25
45 \ N\ s \\
a0 \ AN N 20
a5 P
e
32 \ \‘\\ ~1 16
N ]
20 \\ ~~110
15 4 [ [~ -
10 e I
0 T ] -
] =12
0 1
" B B 2 8 8 £ 8

PRESSURE (bar)

INPUT HORSEPOWER

Dynamatic Technologies Limited



TP SERIES

INSTALLATION DIMENSIONS
1P 3000 SERIES

112

INLET

| FLANGE CODE

—S|

| SHAFT CODE — P |

- >< DIMENSIONSY
1P—3013 41.3 81.3
1P—3017 41.8 82.4
1P—3018 41.9 82.7
1P—3020 42.6 83.9
1P—3028 441 87.0
1P—3036 45.6 90.1
1P—3044 54.6 108.1
1P—3052 56.2 111.2
1P—3060 57.7 114.3
1P—3072 60.0 118.9
1P—3090 63.3 125.5

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




1P SERIES

DRIVE SHAFT  CODE — U
FLANGE CODE — D & S

3/18” SQ.KEY
o / BS: 46
8 —0.8
21, 44.7
ol
x|=
L
> -0.25
o 19 12.2
Sols u
o) W
NS |
g
7
— l - - S o
7/16—20 UNF.

—0.025
K— $17.46
-=0.7

8.1"

9.0 MIN. FULL THREAD.

DRIVE SHAFT  CODE — T
FLANGE CODE — D & S

-0.8

40.5
-0.8
28.2 WOODRUFF KEY
BS:46—405 —0.025
17.8 KEY WIDTH 3.18
-0.7
12.3
M
'

-0.05
$16.662 GAUGE BASIC TAPER.

PER 25.4 ON DIA 3.175 ( 1:8 )

ALL DIMENSIONS ARE IN

— 7/16"—20 UNF.
9.0 MIN
— LOCK NUT
7/16"—-20 UNF.
7/16" TAB WASHER

FULL THREAD.

MM UNLESS OTHERWISE SPECIFIED.




1P SERIES

DRIVE SHAFT  CODE — H
FLANGE CODE — D & S

-0.8
32.4

17

EFFECTIVE
SPLINE LENGTH

—0.025
#17.475

P i

K \. EXTERNAL SPLINE,

INVOLUTE FARM SAE STD.
10 TEETH 16/32 PITCH.
PRESSURE ANGLE 30°
FLAT ROOT SIDE FIT

DRIVE SHAFT CODE — J
FLANGE CODE — D & S

-0.8
32.4

17

EFFECTIVE
SPLINE LENGTH

—0.025
#17.475

I — —V"

\. EXTERNAL SPLINE,

INVOLUTE FARM SAE STD.
12 TEETH 16/32 PITCH.
PRESSURE ANGLE 30°
FLAT ROOT SIDE FIT

o

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




1P—3000 SERIES

DRIVE SHAFT  CODE — S
FLANGE CODE — D & S

-0.8
32.4

17

EFFECTIVE
SPLINE LENGTH

—0.025
|
!
|
|

$17.475

—_ = = —

L | \___EXTERNAL SPLINE,

INVOLUTE FARM SAE STD.
9 TEETH 16/32 PITCH.
PRESSURE ANGLE 30°
FLAT ROOT SIDE FIT

DRIVE SHAFT  CODE — G
FLANGE CODE — D & S

-0.8
32.4

17

EFFECTIVE
SPLINE LENGTH

—-0.025
|
.*
|
|

$17.475

T . — —

\. EXTERNAL SPLINE,

INVOLUTE FARM SAE STD.
11 TEETH 16/32 PITCH.
PRESSURE ANGLE 30°
FLAT ROOT SIDE FIT

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




TP SERIES

DRIVE SHAFT  CODE — K
FLANGE CODE — K

—0.8
43.5

=0.8
27.5

19.3%7
57 WOODRUFF KEY

3x6.5 AS PER DIN 6888
KEY WIDTH 3.0

M12x1.5

N
_{:::_': )

I
H M

L LOCK NUT
-0.025 M12x1.25
817.475
M12 TAB WASHER

(TAPER 1:5)

DRIVE SHAFT  CODE — K
FLANGE CODE — D & S

415°%8
o5 5—0.8
17 30.7
—07 WOODRUFF KEY
6.2 3x6.5 AS PER DIN 6888

—0.025
KEY WIDTH 3.0

m R / M12x1.5
%::_c\,_\

AN LOCK NUT
B —0.025 M12x1.25
$17.475
M12 TAB WASHER

(TAPER 1:5)

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




1P—3000 SERIES

DRIVE SHAFT CODE — P
FLANGE CODE — D & S

o
d 0.8 3/16” SQ.KEY
[0 e _;
Ol wui ' 31.8 BS: 46
[0 —-0.7
HE 8.1
" |
T wo|® = 19
0| /
—| O
o I
W 2
N T8
7 {FL-______-_-_;;\\ 2
|| -0.025
317.46 M5x0.8x14 DEEP
FLANGE CODE — D & S
—0.8
L 32.5
o
= -0.8
= 19.7 —0.025
~ = 3.99 WIDE KEY.
% s _8_1_ TO BS 46:505—-1958
Sl
olo
"
$|5 = /
~lo
s o
o \ / 0
N
oM
Al i
I s
—0.025
k_ — $15.88

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




1P—3000 SERIES

BODY PORT CODE-T

91.5
INLET $ @ OUTLET
Il Il
Qo a2
g = <
Il Il
/ ﬂ} \
/ @ \
/ \
VA \
INLET PORT / \OUTLET PORT
PUMP TYPE| INLET PORT | THREAD.DEPTH |OUTLET PORT THREAD.DEPTH
1P 3013 | 1/2" BSPF 14.0 1/2” BSPF 14.0
1P 3017 | 1/2” BSPF 14.0 1/2” BSPF 14.0
1P 3020 | 1/2" BSPF 14.0 1/2" BSPF 14.0
1P 3028 | 1/2" BSPF 14.0 1/2" BSPF 14.0
1P 3036 | 3/4” BSPF 17.8 1/2” BSPF 14.0
1P 3044 | 3/4” BSPF 17.8 3/4” BSPF 17.8
1P 3052 | 3/4” BSPF 17.8 3/4” BSPF 17.8
1P 3060 | 3/4" BSPF 17.8 3/4” BSPF 17.8
1P 3072 | 3/4” BSPF 17.8 3/4” BSPF 17.8
1P 3090 | 3/4" BSPF 17.8 3/4” BSPF 17.8
BODY PORT CODE — F
_ _ . 91.5 _ I_—_l
¢H\ INLET $ @ OUTLET
© | o oY
o ol © AL
% Il 3 g % ]

f} -4 I & fi
4%x5/16"—18 UNC \4x5 16”—18 UNC
14,0 FULL THR'D 14.0 FULL THR'D

0.5 0.5
_30:5_ PUMP TYPE| INLET PORT oH|OUTLET PORT ®J 305
1P 3013 17.3 17.3
1P 3017 17.3 17.3
1P 3020 17.3 17.3
1P 3028 17.3 17.3
1P 3036 17.3 17.3
1P 3044 20.3 20.3
1P 3052 20.3 20.3
1P 3060 20.3 20.3
1P 3072 20.3 20.3
1P 3090 20.3 20.3

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.

" CONSULT MARKETING FOR MORE FITMENT OPTIONS "




1P—3000 SERIES

BODY PORT CODE — J
SAE O—RING THREADED PORTS. (SAE:J1926/1)
91.5

G} OUTLET

INLET

46.2
112.0
46.2

B
7 .Q} D \

INLET_PORT \_OUTLET PORT

PUMP TYPE| INLET PORT |THREAD.DEPTH |OUTLET PORT | THREAD.DEPTH
1P 3013 [1—1/16"12UN 19 7/8"—14UN 16.5
1P 3017 [1—1/16"12UN 19 7/8"—14UN 16.5
1P 3020 [1—1/16"12UN 19 7/8”—14UN 16.5
1P 3028 [1—1/16"12UN 19 7/8”—14UN 16.5
1P 3036 [1—1/16"12UN 19 7/8"—14UN 16.5
1P 3044 |1-5/16"12UN 19 1—1/16"12UN 19
1P 3052 |1-5/16"12UN 19 1—-1/16"12UN 19
1P 3060 [1-5/16"12UN 19 1—1/16"12UN 19
1P 3072 1-5/16"12UN 19 1—1/16"12UN 19
1P 3090 [1-5/16"12UN 19 1—1/16"12UN 19

BODY PORT CODE — S

, , _ 915 i ,
EBYV————= i EBYV————=—
INLET ﬂ} G} OUTLET
%19 %19

!
!

N
o

N]:::—@ D o NE @&

%
610

4HOLES 3/8"—16UNG/ ﬂ} @

13 FULL THREAD
= =" 4HOLES 3 8”—16UNC/ = ="

13 FULL THREAD

PUMP TYPE
1P 3044
1P 3052
1P 3060
1P 3072
1P 3090

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.

" CONSULT MARKETING FOR MORE FITMENT OPTIONS ~




1P SERIES

MOUNTING FLANGE P—-3000 PROFILE
CODE—S (SAE A 2 BOLT MTG)

4.8 89

0.5x45 |

+0.25

151.0 MAX

CODE-D (4 BOLT MTG)

ALL DIMENSIONS ARE IN MM UNLESS SPECIFIED.

PAGE —38




TP SERIES

MOUNTING FLANGE CODE — K
(CLOCKWISE ROTATION)
2—BOLT MOUNTING

80 17.0
- - 05
6.0
2x910.5 THR'U.
!
|
0.8x45" | |l
i
|
R |
Ol
Q| = o
So
(@] _
— 19}
<+
I G
TP ' TP '
MOUNTING FLANGE CODE — K
(ANTI CLOCKWISE ROTATION)
2—BOLT MOUNTING
80 17.0
= = 6—00.5
| $100 ’
—
!
|
0.8x45 __:
i
|
P — ||
Ol
O+ o
So
— — o —
— 1e]
i <+ le
\ ~—
; < 2x210.5 THR'U. 1 U
I G
30 | 30
P ' TP

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.




1P—3000 SERIES

PUMP COVER

98.7

CODE — A

218

PUMP COVER

CODE — B

[
%
K — _-I
e —_—— - l",-—__
T g
fﬁ& BN
'—'fi'—r ? +=—H
Ly k\_!_ﬁ J
\H-l"-'-. _+_.-' /
/ -'_-":H: — r,_l:;
o)) =
- e,
s -
W "f!x}\" { .-“f[ﬁ'] |
LY |\~_L,/j g1"~\¢f. I
~ -
— %

SECTION  x-X




1P-3000 SERIES

COVER WITH RELIEF VALVE

CODE—R

N
| |
| |
| |
TANK PORT | <
3/8” BSPx16 DEEP @ @ |
| I
= é
_ - _ 2
@$ | O '
|
\I E—— ]
28.5
94 B’
RELIEF VALVE FLOW PRESSURE
3 B RATING RATING
PUMP TYPE SIZ7E DIMN—A | DIMN-B /min bar
1P 3013 TO 1P 3036 NG—6 170 38 6 to 20 0 to 207
1P 3044 TO 1P 309(Q NG—-10 175 45 20 to 40 |0 to 207

ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE SPECIFIED.

RELIEF' VALVE






